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e double reward[10];
ooooobooo

e Fdefine NUM_LOOP 10

e double reward[NUM_LOOP];

O000D0000#define 000000000000000000000000”NUM_LOOP?0
000000710’000000000000000000000000000
000O0Oreward 000000 10000 (double0,00)000000000000000
0 O reward[0]d reward[9] 0 07’07’0000 0000000000000000000000
0000000000

e JIUI0OODUIDDOODUODOOUDDODOO reward[10]

e J000D0ODOOOODOODODOD (reward[0]) 000000 D0OD0ODODOOODOODO
100000 (reward[9])
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/*******************************************************

gbooboobooobooon

*******************************************************/

#include <stdio.h> /x OO0O0OO00OOOOO0OOO */
#include <stdlib.h> /x OO0O0000O00O000O0OOO */
#include "bandit.h" /* DO OO0O00O0O0O0OOOOOOO %/
#define NUM_LOOP 10 /x OO OO OO */
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int main(){

—_
—_

int select_arm, num_arm, loop;
double reward[NUM_LOOP];

double total_reward;

—_ = e
T = W N

init_bandit(); /* 0000000000 */

_ =
~N O

num_arm = get_arm_num();/* OO0 O00O00O00O00O0O0OO =/
printf("00000D0O00O0OOCOO%O0\n",num_arm) ;

NN = =
_ O ©

/ 00000000 1000000%/
for(loop=0 ; loop < NUM_LOOP ; loop++){

NN
w N
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/« 00000D00ooooo =/
printf("0000000C0OOOO0OOCOODOO0OO [1-%d]:",num_arm);

scanf ("%d", &select_arm);

/ 000000000 %/
reward[loop] = bandit(select_arm);
printf("%d 000000 :%1f\n",loop+l, reward[loop]l);

/+ 0000000 */
total_reward=0.0;
for(loop=0 ; loop < NUM_LOOP ; loop++){

total_reward += reward[loop];
}
printf ("0 000 :%1f\n",total_reward) ;
return O;
}
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000”(00000000)0000000000000 int000 select_arm O double 000
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/*******************************************************

gboboobOobooooboobooon

*******************************************************/

#include <stdio.h> /x OODO0OOOOOOOOO */
#include <stdlib.h> /x OOO0OOOOOOOOOO */
#include "bandit.h" /* OO 0OO0O0OOO0OOOCOOO0O =/
#define NUM_LOOP 10 /x O OO OODO */

int main(){
int select_arm, num_arm, loop;
double reward[2] [NUM_LOOP] ;

double total_reward;

init_bandit(); /¥ 0000000000 %/

num_arm = get_arm_num();/* OO O00O0000O0O0OO0OO =/
printf("00000000OOC0OO0O%0O0\n",num_arm) ;

/ 00000000 1000000x/
for(loop=0 ; loop < NUM_LOOP ; loop++){

/* 00000000000 =/
printf("0000000C0OOOOOOCOODOOOO [1-%d]:",num_arm);
scanf ("%d", &select_arm);

reward[1] [loop]=(double)select_arm;

/ 000000000 =/

reward[0] [loop] = bandit(select_arm);

printf("%4d 00000 :",loop+l);

printf("O0000000O :%1£:000 :%1f\n",reward[1] [loop], reward[0] [loopl);

/+ 0000000 */
total_reward=0.0;
for(loop=0 ; loop < NUM_LOOP ; loop++){

total_reward += reward[0] [loop];

printf("00 00 :%1f\n",total_reward) ;

return 0;
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